
SAP ABAP table TTEC_TAXCODE_2 {Assign Tax Events to Tax Code}

TTEC_TAXCODE_2

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

TAXCODE [CHAR (4)]

TAXEVENT [NUMC (3)]

TTE2C_TAXEVENT

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

TAXEVENT [NUMC (3)]

 TTEC_TAXCODE_2-TAXEVENT = TTE2C_TAXEVENT-TAXEVENT 
0..N

1
TTEC_COUNTRIES

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

 TTEC_TAXCODE_2-COUNTRYISO = TTEC_COUNTRIES-COUNTRYISO 
0..N1

TTEC_TAXCODE

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

TAXCODE [CHAR (4)]

 TTEC_TAXCODE_2-TAXCODE = TTEC_TAXCODE-TAXCODE 

0..N

1


